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	A 400g tin of soup is offered with 20% extra free.  How many grams of soup do you get in a tin?
	A salesman gets 15% commission on sales of £3200.  How much is his commission?

	Harry puts £400 into a savings account and earns 5% interest.  How many pounds do they have after 1 year?
	A student earns 450p per hour at McDonalds.  If the pay is increased by 10% how much do they now get paid?

	1300 people took part in a survey and 30% wanted more money to be spent on cycle lanes.  How many people is that?
	434

	425
	440

	430
	There are 620 pupils in a school.  If 30% are absent due to flu, how many are there at school?

	A bottle of drink normally contains 500ml, but the new bottles hold 10% less.  How many ml does a new bottle hold?
	A piece of wood is 5 metres long, if 15% is cut off then how many cms would be left?

	495
	405

	420
	450

	A 5-a-side football team is slimming and together weigh 
540 kg.  If they lose 25% of their weight, then what is their final weight?
	390

	A charity spends 5% of their income on paying staff.  If they receive £8600, then how much do they pay their staff?
	480



